A &2
M C2NESLES(RESLSFR/E2)
&2 FNNEXNLEE &= (&
. 4
SN EAEA) - MEAY - BES 0l &k o e SmEET
T2 129,955,216 123,213,922 6,741,294
s 29,848,000
= 100,107,216
CRUNSYSHS(WELER/E2) 110,213,742 99,804,117 10,409, 625
s 29,848,000
& 80,365,742
2N XNLE &S 21,271,430 15,927,000 5,344,430
s 11,614,000
= 9,657,430
th=~er22t &2 5 - ZTEHISAH(Z1) 1,719,000 8,567,000 26,848,000
Fas 182,000
= 1,537,000
401 Al EHI L 2 CHYI 1,719,000 8,567,000 26,848,000
Eas 182,000
= 1,537,000
01 AI&HI 990,000 8,173,000 A7,183,000
O A& S A 990,000
s 182,000
= 808,000
02 22l 719,000 384,000 335,000
O3 A Zel 719,000
03 AIE 2CHHI 10,000 10,000 0
O3 AL 2 HHI 10,000
T2 &2 & ZABZA(ZD) 1,900,000 1,429,000 471,000
s 1,035,000
& 865,000
401 AIEHIL 20| 1,900,000 1,429,000 471,000
s 1,035,000
& 865,000
01 A& Hl 1,454,300 1,073,000 381,300
OANEZSA 1,454,300
s 1,035,000
= 419,300
02 Zteltl 435,700 346,000 89,700
O3 A el 435,700
03 AIZ 201l 10,000 10,000 0
O3 At SHHI 10,000
CH~GE2 &2 & ZABA(Z2) 16,281,000 5,931,000 10,350, 000
Eas 9,997,000
= 6,284,000
401 Al HI Y 2018 14,281,000 4,794,000 9,487,000
s 9,997,000
= 4,284,000
01 A& HI 13,480,000 4,564,000 8,916,000
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|,

SN 2D
Y CRISUAHS(DNEUSR/E2)
Se: BRHNFNLE &5 (ctel: @
M -Z3H-4A(3A) - NREAY - BES Off &F 4 ﬁlgi Hws2
OAEZ A 13,480,000
=) 9,997,000
< 3,483,000
02 22l 771,000 220,000 551,000
oOZA Ze 771,000
03 Al& S CH bl 30,000 10,000 20,000
OBA 2| 30,000
403 XHXI SR S K20 & 2,000,000 1,137,000 863,000
02 BII 2SO0l 0h & A2 = 2 = At H 2,000,000 1,137,000 863,000
OENEY stey 2,000,000
-2 T2 & TFBA(2D) 785,715 0 785,715
= 200,000
< 585,715
401 Al HIL S OHYI 285,715 0 285,715
= 200,000
= 85,715
01 Al&HI 155,715 0 155,715
OAI& B A 155,715
=) 155,715
02 22t 120,000 0 120,000
OBA 22 120,000
=) 44,285
< 75,715
03 AI& S CHHI 10,000 0 10,000
OBA RO 10,000
403 XHXI RIS K20 & 500,000 0 500,000
02 BJI 2SOl H 8t X2 & 2/ = AR bl 500,000 0 500,000
OEXEA fst2Y 500,000
SO0 E2 - ZFBAH(SD) 585,715 0 585,715
2 200,000
< 385,715
401 Al S HIL S OHHI 285,715 0 285,715
=) 200,000
= 85,715
01 Al& HI 155,715 155,715
OAIEBA 155,715
=) 155,715
02 22| 120,000 0 120,000
OBA 22 120,000
= 44,285
= 75,715
03 Al S ChH 10,000 0 10,000
OZ A 20hH 10,000
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A

X ZH -
S =

T2
CRUSYES(NSASFR/E2)
2NN E 25

e & (69l @
SN P SA(BH) - MBAY - BYS 01l &k o e 52

403 XM S0l & 300,000 0 300,000

02 S 2S0lCHet A =X 2 & AL I 300,000 0 300,000
OEXN=ZY AE2Y 300,000

Nge &= 88,942,312 83,877,117 5,065,195
s 18,234,000
= 70,708,312

Ngezel L HEAS XA 1,399,140 1,235,140 164,000

101 @124l 81,610 81,610 0

04 JIZtHMZ2 2 EE =+ 81,610 81,610 0
OXNYE NS ITA 24| 81,610

201 224l 609,030 70,030 539,000

01 At 22|l 606,030 67,030 539,000
Okz+9 & SRM& FHl 36,330
O=%g AMHEZ 2,000
OAd&II=23 29 2,700
OCINEER Jlgr N HETL AHE 565,000

02 3294l 3,000 3,000 0
OzusSg2s 2dgdl 2E=2 3,000

202 04l 8,500 8,500 0

01 SO I 8,500 8,500 0
O=MAMY & N2 RE 8,500

401 Al HIZ 201 HI 700,000 1,000,000 A 300,000

01 A& HI 700,000 1,000,000 A 300,000
OXNgE M=K 24 700,000

Fol~32 NYgs &2 H 6,010,000 2,360,000 3,650,000

401 A& HI Y 201 8] 5,010,000 1,860,000 3,150,000

01 A& HI 4,500,000 1,500,000 3,000,000
O A& S A 4,500,000

02 Zeltl 500,000 350,000 150,000
O3 A Zel 500,000

03 AlE 2 CHHI 10,000 10,000 0
O3 AL 20HHI 10,000

403 AXIEHHS =201 & 1,000,000 500,000 500,000

02 B 2S0ltHet X=X 2 & AL bl 1,000,000 500,000 500,000
OEXN=EY E2Y 1,000,000

H=2~EHs2t AL =2 F 6,010,000 2,360,000 3,650,000

401 AIEHI R S 18I 5,010,000 1,860,000 3,150,000

01 A& HI 4,500,000 1,500,000 3,000,000
OAI&E S At 4,500,000

- 833 -




A &2
M C2NESLES(RESLSFR/E2)
oSl NYE HE (ctel:m el
SN BB S (SA) - MM - BES Ofl &b b Bl REZ
02 22l 500,000 350,000 150,000
O3 A Zel 500,000
03 AIE 2HHI 10,000 10,000 0
O3 A 20| 10,000
403 AXIHMSA=201H 1,000,000 500,000 500,000
02 BJ12S0Het =& 2 & AL I 1,000,000 500,000 500,000
OEXN=ZY E2Y 1,000,000
BHEe~Ts2 AL =2 F 10,958,000 9,541,000 1,417,000
401 Al HI Y 201 HI 10,458,000 9,041,000 1,417,000
01 A& HI 9,998,000 8,471,000 1,527,000
OAI& S At 9,998,000
02 Zeltl 450,000 560,000 A 110,000
OZA Zel 450,000
03 AlE 2 CHHI 10,000 10,000 0
O3 AL Sl 10,000
403 RAtXIHMS K201 A 500,000 500,000 0
02 B2 SOCHEH A= X 2| &AL HI 500,000 500,000 0
OEXN=EY /E2Y 500,000
THe~-2 32t NYE 2 H 9,763,000 9,210,000 553,000
401 AIEHI L 20| 9,518,000 8,510,000 1,008,000
01 A& Hl 9,000,000 8,000,000 1,000,000
OANEZSA 9,000,000
02 2Zeldl 508,000 500,000 8,000
OZA Zel 508,000
03 AIZ 201t 10,000 10,000 0
O3 AL SHHI 10,000
403 X SHH S0l & 245,000 700,000 A 455,000
02 BJ12SO0 A2 X2 EALS HI 245,000 700,000 A 455,000
OEXN=Z L /E2Y 245,000
S~ NYE SHEH 9,010,000 2,107,000 6,903,000
401 A& HI Y 201 B 8,310,000 1,407,000 6,903,000
01 AI&HI 8,000,000 1,187,000 6,813,000
O A& S A 8,000,000
02 22l 300,000 210,000 90,000
O3 A Zel 300,000
03 AlE 2 CHHI 10,000 10,000 0
OZA 20| 10,000
403 AXHMSA=0l A 700,000 700,000 0
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A &2
M C2NESLES(RESLSFR/E2)
& XY &3 (et
SN BB S (SA) - MM - BES Ofl &b b Bl REZ
02 BJ12S0et =X 2 & ALS I 700,000 700,000 0
OEXN=ZE Y /E2Y 700,000
AES~Mat2t Nege ST 7,588,000 3,185,000 4,403,000
401 A& HI Y 201 HI 7,588,000 3,185,000 4,403,000
01 A& HI 7,118,000 2,815,000 4,303,000
OAEZSA 7,118,000
02 Zcltl 460,000 360,000 100,000
O A Zel 460,000
03 AlE 2 CHHI 10,000 10,000 0
OZ A 2| 10,000
SHE~FH2 ANLE &2 H 500,000 500,000 0
401 Al EHI L 2 CHYI 500,000 500,000 0
01 AIEHI 497,000 497,000 0
OAANEAHEHA 497,000
03 AlE 2 0HHI 3,000 3,000 0
O3 AL Sl 3,000
HSR-HAYN NYE HER 400,000 0 400,000
401 Al HI Y 2018 400,000 0 400,000
01 A& HI 397,000 0 397,000
OJle & AANEAHEY 397,000
03 AIE 201 bl 3,000 0 3,000
O3 AL S 3,000
MEHR HAE3A 180,000 0 180,000
401 Al HI Y S O8I 180,000 0 180,000
01 A& HI 180,000 0 180,000
O Al & Hl 180,000
Negde=z2 MHAX3 & - Z& 4,000,000 15,000, 000 A 11,000,000
401 A& HI Y 2018 1,000,000 2,510,000 A 1,510,000
01 A& HI 995,000 2,500,000 A 1,505,000
OAEZSA 995,000
03 AIZ 201l 5,000 10,000 25,000
O3 AL SHHI 5,000
403 X SHH S0l & 3,000,000 12,490,000 A 9,490,000
02 S 2S0CHE A= X 2 &AL I 3,000,000 12,490,000 A 9,490,000
oz Mxs AEH2Y 3,000,000
ZEHE S 2AHESAM 300,000 0 300,000
401 Al EHI L 2 CHYI 300,000 0 300,000
01 AI&HI 297,000 0 297,000
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A
X XH -
(=

S

SN BB S (SA) - MM - BES Ofl &b b Bl REZ
OJl2 & AAMEHES 297,000
03 AIE 2HHI 3,000 0 3,000
OZA 2| 3,000
NEEHEASE ALZE It 131,407 252,691 A 121,284
207 O] 25,000 47,000 A 22,000
01 22 E I 25,000 47,000 A 22,000
OXNLE ALI AL ALZEIL 25,000
401 Al HIZ 2 O8I 106,407 205,691 A 99,284
01 A& HI 106,407 205,691 A 99,284
OAN=SHZIASEIESA 106,407
Ngz 0l tNEs 5,000 5,000 0
201 L2yl 5,000 5,000 0
02 23294l 5,000 5,000 0
OXNYE AtD Zoltia ZSH 5,000
ADE S22 A2E 2E2Y 295,000 735,000 A 440,000
308 X EHSOIA 295,000 735,000 A 440,000
11 3/ 2SO0IHEHE & & 2 EAHS HI 295,000 735,000 A 440,000
OANE E2RIBUANLE 25 - 2Y 295,000
29 AQE OelHE 25 910,000 910,000 0
308 XAXISM SO0l & 910,000 910,000 0
113 2SoeE&EE A 910,000 910,000 0
OADE OBlEE cuRga o 860,000
OADIE OegHE /=24 50,000
Soiot Ht&OF Xsxtd 24 360,838 1,300,000 A 939,162
401 AIEHI L 2 CHYI 360,838 1,300,000 A 939,162
01 AI&HI 359,338 1,300,000 A 940,662
OJI=2£AHEH 359,338
03 AlE 2 HHI 1,500 0 1,500
OA& S HHI 1,500
LA 222 24 442,480 200,000 242,480
401 AIEHI L 2 CHYI 442,480 200,000 242,480
01 A& HI 440,980 200,000 240,980
O BBCR BN 2B 440,980
03 AIE 201l 1,500 0 1,500
OAN&E = 1,500
SN sMESIEE DB S2IHE(S1) 7,391,304 8,216,000 A 824,696
s 3,400,000
= 3,991,304
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M S22
M C2NESLES(RESLSFR/E2)
Cel XBE HE (crel:&d)
. 4
SN FH-S(BH) - MRAY - B Ol &k o8 e 2
401 Al HI 2 20 YI 7,391,304 8,216,000 A 824,696
s 3,400,000
= 3,991,304
01 A& HI 6,921,304 7,776,000 A 854,696
OANEZSA 6,921,304
Eas 3,400,000
= 3,521,304
02 Zeltl 460,000 430,000 30,000
OZA Zel 460,000
03 AIE 201 Hl 10,000 10,000 0
O3 A 20| 10,000
SN sSMEIEZZ HAIXF? S2ME(=1) 5,571,429 7,294,286 N1,722,857
s 3,900,000
= 1,671,429
401 Al HI 2 20 YI 5,571,429 7,294,286 AN1,722,857
2 3,900,000
= 1,671,429
01 A& HI 5,163,429 6,924,286 A 1,760,857
O A& S A 5,163,429
= 3,900,000
< 1,263,429
02 &2l 398,000 360,000 38,000
O3A Zel 398,000
03 AlZ 2 CHHI 10,000 10,000 0
OZ A 2| 10,000
SN sMESEE SSF Z2HE(Z2) 5,285,714 4,000,000 1,285,714
=) 3,700,000
= 1,585,714
401 A& HIZ 201 8] 5,285,714 4,000,000 1,285,714
=) 3,700,000
= 1,585,714
01 AI&HI 5,275,714 3,990,000 1,285,714
O A& 3 A 5,275,714
=) 3,700,000
= 1,575,714
03 AlE 2 CHHI 10,000 10,000 0
O3 AL 2 10,000
SN sMESEZ ASXF? T 2HE(S1) 8,620,000 2,400,000 6,220,000
s 6,034,000
= 2,586,000
401 A& HIZ 201 B 7,814,000 2,000,000 5,814,000
Eas 6,034,000
= 1,780,000
01 AIEHI 7,324,000 1,690,000 5,634,000
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A

E=Z2
HM: 2
gt

=1

©9: NYE =5 EER-E
M -Z3H-4A(3A) - NREAY - BES Off &F 4 gg% Hws2
OANEZAF 7,324,000
7 6,034,000
= 1,290,000
02 22l 480,000 300,000 180,000
OZA Zel 480,000
03 Al& = CH 10,000 10,000 0
OT A 20hHI 10,000
403 X SHS K201 ™ 806,000 400,000 406,000
02 B 2SOl CH B XH2 & I = AL bl 806,000 400,000 406,000
OEXE4 fs2Y 806,000
FEEZ AT (E)(2D) 1,100,000 3,750,000 ~2,650,000
=) 550,000
= 550,000
401 A& HI L 2O Yl 1,100,000 3,750,000 £2,650,000
=) 550,000
= 550,000
01 A&l 1,100,000 3,750,000 A2,650,000
OXNYE ABE2 PENA 1,100,000
7 550,000
= 550,000
B2 FEML(AZ) (D) 650,000 1,059,000 409,000
z 650,000
403 X SHH S K201 H 650,000 1,059,000 409,000
z 650,000
01 XEXIEHAI X2 2 = 650,000 1,059,000 409,000
ONZE L SOHEE2 T2 RENMM 650,000
=) 650,000
DEAND B2 R N (M) (HEAY) 561,000 0 561,000
403 IR SHS K201 ™ 561,000 0 561,000
01 XEXIEHAHI X = 2 = 561,000 0 561,000
ONZE WSAD RS 2 HH(He) 561,000
SIMDRE SRALY(S)(HEAY) 560,000 0 560,000
401 A& HI L R OH Yl 560,000 0 560,000
01 A&l 560,000 0 560,000
OXNYGE SMDIZ HX (M) 560,000
SIMDAE MY (AT)(HESAY) 840,000 0 840, 000
403 X SH S K201 ™ 840,000 0 840,000
01 XEXIEHAI X2 2 = 840,000 0 840,000
ONZE SMDXZ X (HE) 840,000
OIFEH BHEY EHAY(AR)(HEAY) 100,000 0 100,000
403 IR SH S K201 & 100,000 0 100,000
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A &2
M C2usSUYHS(NSEER/ER)
& XY &3 (et
SN Y- SAEA) - MRAY - BES 01l &k o e 52
01 XX EHH A2 2= 100,000 0 100,000
OANZE BHNEZ L WSHMAL(HE) 100,000
HY2AHE(Z2)(JIEH/DIIE 29,694 28,125 1,569
Jl2 &l 29,694 28,125 1,569
fA2E Jl22l 29,694 28,125 1,569
201 824l 21,222 19,995 1,227
01 At 2tel ] 21,222 19,995 1,227
FA29 At 22l 21,222
202 04l 5,472 5,130 342
01 SO I 5,472 5,130 342
ORMEE =UObI 5,472
203 &S =&l 3,000 3,000 0
04 FEAN2EYR=LH| 3,000 3,000 0
© 1521 Ol ot 250,000 128 3,000
Heegs(E2M)(nsder/c2) 19,711,780 23,381,680 A 3,669,900
RSN 8,570,780 8,710,890 A 140,110
ANegs S (XY2) 8,570,780 8,710,890 A 140,110
311 X+t S0l At &f & 723,280 863,390 A 140,110
05 JIEHAHR = Of AhH4F &t 723,280 863,390 A 140,110
O'15¢ XY= XL (SKIIS) 408,879
©O'169 NYS LI (XFAaM) 235,301
O'16¢ XYz X (MBSHSE) 79,100
601 AL SAS&e 7,847,500 7,847,500 0
S JIEISUHNL SRS A& 7,847,500 7,847,500 0
O'154¢ NYE X (SXIIB) 2,000,000
O'16E XYE ST (X GaM) 3,587,500
©'169 NYs XX (MESHSE) 2,260,000
WHEHHX= 11,141,000 14,670,790 A 3,529,790
ANge sxd 10,805,000 13,295,790 A 2,490,790
705 == Rc3&E 10,805,000 13,295,790 A 2,490,790
03 Al - EXGHEIISH =S4 E 9,000,000 11,000,000 2,000,000
O'osE XNge &xF 1,000,000
©'ood XY &2y 3,000,000
O'NMg Xge &2 2,500,000
O'r2d XY =2y 1,000,000
O'138 XY &2 1,500,000
04 Al - SXISGNLII S0 <=0l Xt &f & 1,805,000 2,295,790 A490,790
©'osd XY L 60,000
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M 20
3 HREsS(E2WH)(LEL=R/E2)

S WRHAHX = (o8
% 5 15|
SN Y- SAEA) - MRAY - BES 01l &k o i 52

©'09d XY =2 270,000
o' Xge &2z 375,000
O'12d XY =2y 180,000
0138 Xge &xg 315,000
©'20d XY &2y 605,000

=2 2 336,000 345,000 A 9,000

705 ==&l 3aE 336,000 345,000 A 9,000

03 Al - EXGHEIISH ==L e 300,000 300,000 0
Q'09E =2 2X2MH 300,000

04 Al - SXISGNLII S0 ===0l Xt &f & 36,000 45,000 29,000
0'09¢E REEZ XA 36,000
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